



Utilisez la propriété distributive pour résoudre chaque problème.

Réponses

$$\text{Ex) } 14 \times 4 = (5 \times 4) + (9 \times 4) = 20 + 36 = 56$$

Ex. 56

$$1) 6 \times 18 = (6 \times 9) + (6 \times \underline{\quad}) = \underline{\quad}$$

1. _____

$$2) 3 \times 16 = (3 \times 6) + (3 \times \underline{\quad}) = \underline{\quad}$$

2. _____

$$3) 18 \times 6 = (8 \times 6) + (\underline{\quad} \times 6) = \underline{\quad}$$

3. _____

$$4) 14 \times 4 = (7 \times 4) + (\underline{\quad} \times 4) = \underline{\quad}$$

4. _____

$$5) 13 \times 6 = (9 \times 6) + (\underline{\quad} \times 6) = \underline{\quad}$$

5. _____

$$6) 9 \times 18 = (9 \times 9) + (9 \times \underline{\quad}) = \underline{\quad}$$

6. _____

$$7) 7 \times 15 = (7 \times 7) + (7 \times \underline{\quad}) = \underline{\quad}$$

7. _____

$$8) 5 \times 12 = (5 \times 7) + (5 \times \underline{\quad}) = \underline{\quad}$$

8. _____

$$9) 14 \times 6 = (6 \times 6) + (\underline{\quad} \times 6) = \underline{\quad}$$

9. _____

$$10) 6 \times 17 = (6 \times 9) + (6 \times \underline{\quad}) = \underline{\quad}$$

10. _____



Utilisez la propriété distributive pour résoudre chaque problème.

Réponses

Ex) $14 \times 4 = (5 \times 4) + (\frac{9}{36} \times 4) = \underline{56}$
20 + 36

Ex. 56

1) $6 \times 18 = (6 \times 9) + (6 \times \frac{9}{54}) = \underline{108}$
54 + 54

1. 108

2) $3 \times 16 = (3 \times 6) + (3 \times \frac{10}{30}) = \underline{48}$
18 + 30

2. 48

3) $18 \times 6 = (8 \times 6) + (\frac{10}{60} \times 6) = \underline{108}$
48 + 60

3. 108

4) $14 \times 4 = (7 \times 4) + (\frac{7}{28} \times 4) = \underline{56}$
28 + 28

4. 56

5) $13 \times 6 = (9 \times 6) + (\frac{4}{24} \times 6) = \underline{78}$
54 + 24

5. 78

6) $9 \times 18 = (9 \times 9) + (9 \times \frac{9}{81}) = \underline{162}$
81 + 81

6. 162

7) $7 \times 15 = (7 \times 7) + (7 \times \frac{8}{56}) = \underline{105}$
49 + 56

7. 105

8) $5 \times 12 = (5 \times 7) + (5 \times \frac{5}{25}) = \underline{60}$
35 + 25

8. 60

9) $14 \times 6 = (6 \times 6) + (\frac{8}{48} \times 6) = \underline{84}$
36 + 48

9. 84

10) $6 \times 17 = (6 \times 9) + (6 \times \frac{8}{48}) = \underline{102}$
54 + 48

10. 102